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Answer the Questions from any one Option.

OPTION-A
( Plant Anatomy and Embryology)
Paper : BOT-HG-4016

OPTION-B

( Economic Botany and
Plant Biotechnology)

Paper : BOT-HG-4026

For Regular Core
( Plant Anatomy and Embryology)
Paper : BOT-RC-4016

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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1.

OPTION-A e RS

Paper : BOT-HG-4016

(Plant Anatomy and Embryology)

Answer very briefly : 1x7=7
oS 53 ey @l :
(a) What is megagametogenesis ?

(b)

(c)

(@)

(e)

Siegne Fiomw (i [erd e

Name the two main parts of a dicot
embryo.

-l o P T S W o
What is permanent tissue?

7R T e

Name the most common type of ovule
in angiosperms.

o[ Tfewe wibizels AR PR fTFea
15 fort|

Write the name of tissue that helps
hydrophytes to remain floating.

TS O (IR FIT SRR A SAiNe
eoifé ANF?
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U,

()

Write briefly :

what do you mean by bisporic embryo
sac?

R-@9T ST AT WA e
What is Chalaza in an ovule ?

o 931 oo & =2

2x4=8

B forat

(@)

(b)

(c)

(d)
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Double fertilisation
fa-fRcEs=
Tunica-Corpus Theory
Bil-eelig ToIM
Casparian Strip
coceif<RIe 3ot

Differences between self-pollination and
cross-pollination

F-SFECI TNE ToI- AT Mere 4
MLFAR
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3. Answer any three of the following :5%3=15
oot Bred T Rt fofprT Tex fordl

(@)

(b)

(c)

(d)

What is apomixis? Discuss its
advantages and disadvantages in Crop
improvement.

RIS 52 *77 TRae 20 SoeifRet wie
SR [RT StEsa F10 )

Describe the anatomy of dicot leaf with
a labelled diagram.

AT TR 9T Mo o9 [Fwy
ez I 10|

Write notes on heartwood and Sapwood.

AP T TR DI TKawa vt

What is polyembryony ? Explain its
types and importance in plant
reproduction.

Tzl 52 3 o O Bfew domme 2T
Qg I ¥

Explain the anatomical features of
xerophytes.

T GEVe AIfsEs S1ovd [aea qefar 31 |
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4. Answer any three of the following :
10x3=30

oo Srad I [Tl fofabIT ©es foar

(a) What are vascular bundles ? Describe
their types and arrangements in
monocots and dicots with proper
diagram. 2+8=10

AR O 2 qaAeedl o RAsHd Tewre
29 Y OF RprE basrg 34t =11

(b) What is secondary growth in plants?
Explain with diagrams the stages of

secondary growth occurs in
dicotyledonous roots. 2+8=10

Beve (et 3 52 fRwviat Sfevs e @t
¢St gfas RS srgpiR o 396t 1)

(c) What is meristematic tissue ? Describe
the different types of meristematic
tissues and their role in plant growth.

2+8=10

e Fel {2 OEs N [ifon eleng o
Tfgwa 3o 2 gl 9 |

(d) What is apical meristem? Describe
various theories regarding structure,
growth and development of root apex
of flowering plants. 2+8=10
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(e)

g Oies e 52 Hooois S e
HerSig Stow, I ST R it
SHRCPRT TSIVPTRT I T |

How are functional megaspore and
embryo sac are formed? Describe
various types of embryo sac
developments in angiosperms with neat
diagram. 2+8=10

I Y NF TN (AP Sio7 T2
Foonis B Rifon e weliiag 1w efermix
R oz 30t 311

What is endosperm ? Explain its types,
development and functions in seed
formation. 2+8=10

FOrE 2 9 g, Kot aiF of owe
2 TR I
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OPTION-B
Paper : BOT-HG—4026

( Economic Botany and Plant Biotechnology )

1.

Answer the following questions :

1x7=7

©olq TRy Ted fudl

(a) Who proposed the concept of centre of

(b)

(c)

(@)
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origin ?

aGife] Teoife (FEF IRt o & GG
S9RpIRRE ?

Write down the scientific name of bread
wheat (6n) ?

(3 (e A 2
Name the alkaloid present in Tea?

HIZIIR® A GEleTEn [ A fordl |

Which State of India produce highest
amount of spices ?

oo (AT T2el TRl ISTANT AN
oral|
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() What is the required amount of
pressure to sterilize the culture media
in Autoclave ?

wBETe Ff4 Mgy Ffewad R R
BiolT AT 2

() What is the full form of PCR?
3t B ig-3 oyl ol fovan

(g9 Who coined the term bioinformatics ?

AT BT IO (I &6 PR 2
2. Answer the following questions briefly :
2x4=8
weTe SRS ePTIRT b Tl faar o

(a) Write the name of the four species of
cultivated cotton ?

Ry TS HIfE el = fora|

(b) Write the scientific name of the
following and their part used as spice :

fArcaRle ARs ([T 9 9IF =251 Bl
IRES RN SHPRRS A o7 ¢

(i) Clove
R
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(ii) Black pepper
wlee

() What do you mean by cellular
totipotency ?

RINT 5T IAIET e Wi & g@n?

(d) Importance of molecular scissor in
Recombinant DNA technology.

-5 T 97 9 oYfe e s &FHir
ATl 2

3. Write short notes on any three of the
following : 5x3=15

were SRS Rt fofAd Gt forat

(a) Centres of origin

! seifeT Teolfs @m

(b) Economic importance of soybean

AR Tfes 99

(c) Embryo culture
et I
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(d) Role of RFLP in DNA finger printing
Bamq freotiv Rffew RFLPT g

(e) Proteomics and Genomics
Ao =T R

4. Answer any three of the following :
10x3=30

o] [Tt fofabt es Tex sl e

(a) Mention two principle fibre yielding
plants of India with their Latin Name ?
Assign them to their respective families
and indicate the plant parts from which

the products are obtained ?
2+2+3+3=10

OIRT R4 SN g GeAmit Ofera il
i fordl | 1T (ol1as Toad IR (P (i I
oiql Wz SIZT¢ I T T 94

(bp) What is the species that yield tea of
commerce ? Give an account of the

steps in tea processing. 2+8=10
51z ST Testimemiier ereifors 2 sizotfe
TR BF (25! I 4 |
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(c)

(@)

(e)

What do you mean by tissue culture ?
What are basic requirements of tissue
culture ? How does tissue culture help
in crop improvement and plant
conservation ? 1+2+7=10

T I T & @2 I T AT e
araER & &2 91 Stirme e
TRIFTS I T (AR F2AT IF, oy

What is Recombinant DNA technology ?
Name any four enzymes involved in
Recombinant DNA technology ? Name
three different blotting techniques in
Recombinant DNA technology with their
application ? 2+2+6=10

-2t Ry e e R-IRES Rgmg
&GS woe Wi B SwEpes W B
T RS amy egfere gagr @rig™R
e Fofinr Srat w41

Write an explanatory note on molecular
marker.

e IR R 40
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(/) What do you mean by bioinformatics ?
What are the different branches of
bioinformatics ? -How does the
bioinformatics help in drugs discovery ?

2+2+6=10

teR-ox gt et 6 g e tem-wy Rwin
Rfew =z & &2 3¢ S cvae
og-o RWiR (@ 4T 7T I
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